LW E Acriesger)

RYSBUENR B S EBHL
HIGH EFFICIENCY WITH INCREASED
POWER ASYNCHRONOUS

ALUMINUM MOTORS

WONDER

auc

ZWEARFIBHMIE S MBS EBHAN., BELTFIECGREBRI ,
ZWEARB AR EHEFNRIRAARM T ESNBHIIEENEFEE
—MRNRIHLEE £, HEEIRFRIE2EK,

LTS

-IPSSPAIPER |, FR4asR |, BRGRTH , SITEHI.

- BREEREA00V, ZIESAER50Hz,

(EREM  RIERE-20°C-40°C |, 54k <1000,

T, MOUNTING ARRANGEMENTS

Types

Basic type . Derived types of construction
@)

@) d
IMB3 IM V5 IM V6 IM B6 IMB7 IM B8
IM 1001 IM1011 IM1031 IM 1051 IM 1061 IM 1071

s R L il e

IM B35 IM V15 IM V36
Im2001 IM2011 IM 2031 IM 2051 IM 2061 IM 2071
S M e I i S
IMV1 IM V6

IM B5
IM 3001

ZWEA160-280 I:

BEAZEA R ERTENIRENZES .
1)t ZEEAR , [EC60034-7THhKREFEN.,
2)5*IMV6,IMB6,IMBSZLEE S, , Wilbia#HaiA,

IM3011 IM 3031

WONDER

ZWEA HIGH EFFICIENCY WITH INCREASED
POWER ALUMINUM MOTORS

B AREWE TECHNICAL SPECIFICATIONS

o EoOBE SEAG I SRR BRI e e
IE S i gw BU W R ek th wAlE

Output IEC Rated  Full Efficiency Power factor Locked Locked Break- Sound Moment

Frame speed load 1% [efe]Y0) rotor rotor down LP .Ofv
C;”EX;“ % of full load current torque torque dB(A) J'ergr;?)
(rpm)  4Q0V 75 50 100 75 50 I/ TUTa  To/Tq

3000 min"'(2poles) 50Hz

1.1 1.5 80M1 2840 2.31 80.0 80.0 78.2 0.86 0.80 0.58 6.7 319 4.0 60 0.00098
1.5 2 80M2 2930 2.27 81.5 81.3 79.3 0.86 0.71 0.68 7.0 4.0 4.1 60 0.002
2.7 8 90S 2890 2.91 83.5 825 81.0 0.89 0.81 0.74 6.7 22 2.1 59 0.003
3 4 90L 2890 4.20 85.0 84.6 83.3 0.89 0.88 0.81 7.0 2.4 2.7 63 0.004
4 (5.4 100L 2915 5.64 86.2 86.1 84.7 0.89 0.84 0.75 9.0 3.0 3.4 63 0.005
55 7.5 112M 2895 7.41 87.5 87.5 86.7 0.89 0.80 0.72 7.8 2.5 3.2 68 0.013
75 10 13281 2930 10.0 88.5 88.3 87.5 0.90 0.85 0.78 7.5 2.0 &1l 68 0.023
9.2 125 13282 2930 13.5 89.0 89.1 88.2 0.90 0.86 0.80 8.5 2.3 3.3 68 0.027
11 {5 132M 2930 16.4 89.8 89.7 89.1 0.90 0.86 0.79 8.2 259 3:0 71l 0.035
15 20 160M1 2940 19.5 90.5 90.5 89.6 0.90 0.87 0.80 8.2 2.3 3.0 68 0.056
18.5 25 160M2 2940 26.7 91.2 91.2 90.1 0.89 0.82 0.80 8.1 202 Sl 68 0.064
22 30 160L 2940 324 91.6 92.0 91.0 0.90 0.86 0.83 9.0 2.7 3.3 72 0.075
30 40 180M 2950 38.3 92.2 92.3 91.7 0.90 0.88 0.85 8.9 2.4 3.4 72 0.105
1500 min™'(4 poles) 50Hz
0.7 1 80M1 1365 1.85 80.2 79.8 76.3 0.73 0.68 0.52 6.5 315 358 47 0.0036
11 15 80M2 1390 1.86 81.8 81.6 80.0 0.71 0.69 0.57 7.2 4.0 4.1 49 0.004
155 2 90S 1435 2.51 83.2 83.2 81.5 0.76 0.70 0.61 7.2 3.0 3:d ai 0.005
2.2 3 90L 1430 3.36 84.7 83.2 82.8 0.76 0.71 0.63 7.8 3.2 3.5 51 0.006
3 4 100L1 1440 4.68 85.9 86.0 84.7 0.79 0.75 0.65 7.8 )8 3] 51 0.008
4 5.5 100L2 1430 6.30 87.0 86.7 85.0 0.79 0.75 0.66 8.5 4.0 4.1 55 0.009
580 ) 112M 1445 8.10 88.0 88.1 87.3 0.81 0.78 0.71 7.3 2.7 288 59 0.018
7.5 10 1328 1460 11.0 89.0 88.6 87.2 0.81 0.78 0.72 8.9 3.3 3.4 57 0.037
9.2 125 132M 1460 14.9 89.6 89.4 88.9 0.81 0.79 0.70 8.0 3:0 3: ST 0.048
11 15 132M 1460 18.0 90.0 90.1 89.8 0.82 0.80 0.75 8.5 3.0 3.1 63 0.075
15 20 160M 1470 20.3 91.0 90.8 90.4 0.86 0.83 0.73 7.4 252 215 63 0.106
18.5 25 160L 1470 27.5 91.5 91.3 90.6 0.86 0.81 0.75 8.8 3.0 3.1 64 0.114
22 30 180M 1470 334 91.8 91.8 91.5 0.87 0.84 0.77 8.1 2.2 53.0) 64 0.167
30 40 180L 1470 39.5 92.5 92.3 91.7 0.87 0.82 0.77 8.1 2.3 3.1 73 0.188
1000 min™(6 poles) 50Hz
1.1 1.5 90S 945 2.89 785 78.2 753 0.70 0.61 0.53 4.2 2.0 2.4 45 0.005
155 2 90L 945 2.83 80.2 79.1 77.2 0.70 0.63 0.50 4.7 22 2.6 47 0.006
22 3 100L 930 3.66 82.2 82.0 79.7 0.72 0.63 0.56 4.5 2.0 2.2 47 0.009
4 112M 950 4.87 83.6 83.3 82.1 0.78 0.71 0.62 6.0 255 246 50 0R0iS;
4 5.5 1328 970 6.88 85.0 84.5 82.2 0.74 0.66 0.58 7.5 3.0 3.2 50 0.003
55 7.5 132M1 970 9.03 86.4 86.4 856 0.74 0.69 0.58 8.1 3.4 <5 53 0.04
7.5 10 132M2 970 12.1 87.8 87.6 86.9 0.75 0.72 0.59 7.8 3.1 3.1 55 0.05
11 15 160M 970 229 89.0 89.1 88.5 0.78 0.75 0.65 6.9 258 3.0 55 (0) (&)
15 20 160L 970 22.4 89.7 89.4 88.1 0.79 0.74 0.65 6.0 2.0 2.6 57 0.23
185525 180L 980 29.9 90.4 90.4 89.6 0.80 0.74 0.66 9.1 3.1 32 59 0.36

EEBHIE2ZERS R [EC60034-30 XWX S SR IEC60034-2-1, 2007

le2

11
13
15
18
72
27
39
43
44

101
87

100

115

13
14
16
19
24
27
32
46
58
51
96
112
147
162

14
16
21
26
32
43
51
92
98

133




SWEA ZWEA 4MEEZE R B MOUNTING AND OVERALL DIMENSIONS SWEA ZWEA SMEZE R TE MOUNTING AND OVERALL DIMENSIONS

AD

KK
B3 A-A ‘@% KK
B14 ;
— e ™ A A-A \ [
i (@) b DH o=
I < 1) E | Mm ]
T - A i ]
T T d J (@]
\j 8| ol Z - >
‘ =4 A +
E_|.C | B | _AZZ_‘ L K D T T
L A D, —
AB [ Il
E L
B5 KK
A-A ) & i B34 KK
o T T
e~ T JLLT T
= : = -y
<£> =1 ] o - CE— [a)
-b- I == = g T
_ a gt <
J-R L +
1 T T T
= Sk
KK EJ.c. B |
B35 A-A W%@ \ |
_ | S
r DH B S C
~ i} i
Al
© oz ol | 1Y
‘E = T T . .
B BE 5 78I NN 4 R ~F
. Frame Mounting dimensions(mm) Overall dimensions(mm)
T C B size D DH E G H K KK T AB AC AD HD
. )
80M1-2.4 12562.5 100 50 19 M6X16 40 6 15.5 80 4-d10 M20X1.5100 80 120 O 4-M6 3 165 160 150 230 315 315
80M2-2  12562.5 100 50 19 M6X16 40 6 15.5 80 4-d10 M20X1.5100 80 120 O 4-M6 3 165 160 150 230 315 350
22 % R < GRS 80M2-4  12562.5 100 50 19 M6X16 40 6 15.5 80 4-d10 M20X1.5100 80 120 O 4-M6 3 165 160 150 230 350 350
AR B e B p e e, A S EEIE T 90S 140 70 100 56 24 M8X20 50 8 20 90 4-610M25X1.5115 95 140 0 4-M8 3 190 185 160 250 345 345
S 9oL 140 70 125 56 24 M8X20 50 8 20 90 4-b10 M25X1.5115 95 140 0 4-M8 3 190 185 160 250 360 360
80M124 125 625 100 50 19 M6x16 40 6 155 80 4-&10M20x15 165 130 200 0 4-61235 165 160 150 230 315 315 ooLaLia
80M2-2 125 625 100 50 19 M6x16 40 6 155 80 4-¢10M20x15165 130 200 0 4-¢ 1235 165 160 150 230 315 350 100L6 6% BY 140 65 ZOBMDNXZZED & 21 1004-GABMEDICLS 120 TTOLR0 O A-H8 3.5 FOZ05185 285 390 =90
80M24 125 625 100 50 19 M6x16 40 6 155 80 4-&10M20x15 165 130 200 0 4-61235 165 160 150 230 350 350 100L2-4 160 80 140 63 28M10X2260 8 24 1004-412M25X1.5130 110160 0 4-M8 3.5 210 205 175 275 435 435
90s 140 70 100 56 24 M8x20 50 8 20 90 4-¢10M25x15165 130 200 0 4-$1235 190 185 160 250 345 345 112M 190 95 140 70 28M10X2260 8 24 112 4-12 M25X1.5130 110160 0 4-M8 3.5 240 230 185 300 400 400
ook 140 70 125 56 2 ME20 508 20 20 4 PHONZSK.SITES 10200 0 A=gi2:38 10 155 160 200 360 3ed 1325-6 216108 140 89 38M12X2880 10 33 132 4-012 M32X1.5165 130200 0 4-M10 4 275 265200 345 445 495
100L2.L14,100L6160 80 140 63 28 M10x22 60 8 24 100 4-& 12 M25x1.5215 180 250 0 4-015 4 210 205 175 275 390 390 R R —————
10024 160 80 140 63 28 M10x22 60 8 24 100 4-& 12 M25x1.5215 180 250 O 4-015 4 210 205 175 275 435 435 11332332'2’3' ; '
112M 190 95 140 70 28 M10x22 60 8 24 1124-012M25x15215 180250 0 4-b15 4 240 230 185 300 400 400 132M2-6 2lbidn 178 89 JAMIZX2880 10 39 18249-¢12.MA2X1.T 165100200 04-MI0 4 27563200 B4 485 HES
13231254 216 108 140 89 38 M12x28 80 10 33 132 4- 12 M32x1.5265 230 300 0 4-b15 4 275 265 200 345 445 495 132M1-6 216108 178 89 38M12X2880 10 33 132 4-$12M32X1.8165130200 0 4-M10 4 275 265200 345 485 485
132526 216 108 140 89 38 M12x28 80 10 33 132 4-&12M32x1.5265 230 300 0 4-015 4 275 265 200 345 445 445 i BEARINES
32 i 216 108 178 89 38 M12x28 80 10 33 1324-$12M32x15265 230 300 0 4-015 4 275 265 200 345 485 535 Py —— TEH R Non-driving End 2%
R ; il o .
132M1-6 216 108 178 89 38 M12x28 80 10 33 132 4- 12 M32x1.5265 230 300 0 4-015 4 275 265 200 345 485 485 BLEE S Frame size o4 (pole) U OENT ) e (pole) oMt (pola) %4781 (pole)
160M 254 127 210 108 42 M16x36 110 12 37 160 4- ¢ 15 M40x1.5300 250 350 0 4-419 5 315 315 245 405 615 615 ZWEAS80 6204-2Z/C3 6204-2Z/C3 6203-2Z/C3 6203-2Z/C3
160L 254 127 254 108 42 M16x36 110 12 37 160 4-& 15M40x1.5300 250 350 0 4-419 5 315 315 245 405 660 660 ZWEA9D S S N S
5241 121 14 42, s _ :
180M 279 1395 241 121 48 M16x36 110 14 425 180 4- & 15 M40x1.5300 250 350 0 4-$19 5 350 355 265 445 690 690 JWEAT00 6306.22/C3 6306.22/C3 6205.22/C3 6205.22/C3
180L 279 1395 279 121 48 M16x36 110 14 425 180 4- & 15 M4OX1.5 300 250 350 0 4-$19 5 350 355 265 445 730 730
ZWEA112 6306-22/C3 6306-22/C3 6205-22/C3 6205-22/C3
ZWEA132 6208-22/C3 6208-22/C3 6206-22/C3 6206-22/C3
ZWEA160 6209-22/C3 6209-22/C3 6209-22/C3 6209-22/C3
ZWEA180 6211/C3 6311/C3 6211/C3 6211/C3




